Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Mathematics
405036408
3
Online
Mandatory
25
25
100
Yes
Yes
Yes
1
405036783
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Question Shuffling Allowed :

Question Number : 51 Question Id : 40503611206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A survey shows that 63% of the peoplein a
city read newspaper A whereas 76% read
newspaper B. If x% of the people read both
the newspapers, then a possible value of x
can be :

Options :

40503640691, 27

40503640692. 5

40503640693, 95

40503640694, 7

Question Number : 51 Question Id : 40503611206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UF g geiar ¥ fF uw I H 63% @
TUER 93 A =4 €, S 76% THER 99 B
e & | AfE x % T SE HHER 95 e €,
x 1 U eIfad 5F 2 9l ¢ ;

Options :

40503640691, 29
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40503640692. S0

40503640693, 9

40503640694, 27

Question Number : 52 Question Id : 40503611207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let [t] denote the greatest integer =t. Then
the equationin x, [x]2+2[x+2] —7=0has:
Options :

40503640695, 1O integral solution.

40503640696, ©Xactly two solutions.

40503640697, exactly four integral solutions.

40503640698, nfinitely many solutions.

Question Number : 52 Question Id : 40503611207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
f [t] HewH Ui <t F9 2, o F e,
[x]?+2[x +2]-7=0

Options :
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40503640605, 1 P18 T &l & 2|

40503640696, A 2 T € |

F O IR YUt gl ¢ |

40503640697.

40503640698, F T T T

Question Number : 53 Question Id : 40503611208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

27 4+

Let y = ,z=x+iyand k > 0. If the

z —ki
curve represented by Re(u) +Im(u)=1
intersects the y-axis at the points P and Q
where PQ =25, then the valueof k is :

Options :

¥
40503640699, /2

40503640700.

2
40503640701. 3/2

40503640702. .

Question Number : 53 Question Id : 40503611208 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

A g = 2L s=x+iy @k >0T1 IR

z ¥
Re(u) +Im(u) =1 R &l ==, y-514 =i
P 91 Q W Tedl g, W& PQ=5 %, o k
T E ;
Options :

40503640699. L

40503640700.
40503640701. -

40503640702.

Question Number : 54 Question Id : 40503611209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~osfl  1sinf T
If A= {t l ] {li = —W and
24

isinf  cosfl |\ 24 )
5 d 1‘? :
A° = , Where j—./— 1, then
C L']
which one of the following is not true ?
Options :
. 7
40503640703, @ —d==0
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al—hl=
40503640704.

k3| =

v . 2
40503640705, 0 =@ + b==1

iy b i,
40503640706, & ~ ¢ =1

Question Number : 54 Question Id : 40503611209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o | cosfh  isinb o
1sin  cosb | \ 24 )

| d ]:-:' T = =
145:[ 1],3179@?!:\#— 1 & o f=
C 4
H FHE-91 9 T3l 27
Options :
. 1 S
40503640703, @~ —d==0

1

2 p)
I_hHi=—
a b B

40503640704
v .5 2
40503640705, 0 =a~ + be=1

40503640706, & ¢ =1

Question Number : 55 Question Id : 40503611210 Question Type : MCQ Option Shuffling : Yes Display Question g C0| Iegedu nia:

~



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

20
50-r1 ~
The value of Z Ce is equal to:
r={)
Options :
50— 30—
]{-f': i 31‘1{_{_]
40503640707.
S0C,, — 30C,
40503640708. : "
i) P 30—
L-.r — ]{._-.r
40503640709. g :
40503640710. . g

Question Number : 55 Question Id : 40503611210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.1
50—
Z ‘Co =rram & :

r={
Options :
50— 30—
]{‘-{i i m““—f:
40503640707.
HOC. — 300,

40503640708. .

51 30—
L - ]{._ rd
40503640709. : !
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S1C,, + 30C,
40503640710. g g

Question Number : 56 Question Id : 40503611211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let @ and B be the roots of x2—3x+ p=0
and vy and 3 be the roots of x> —6x+q=0.
If e, 3, v, & form a geometric progression.
Then ratio (2g+p): (2qg — p)is:
Options :

40503640711, 2231

40503640712.
40503640713, 23

40503640714, 3:1

Question Number : 56 Question Id : 40503611211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HAT o T B, FHIH 22 —3x + p=07F T &
FR y A5, THIH 22— 6x+q=0F A2 |
e o, B, y T & TUITR Foit F &, <1 F9m,
(2q+p): (29— p) ¥:

Options :
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40503640711, 22 31

40503640712.
40503640713, 23

40503640714, 3:1

Question Number : 57 Question Id : 40503611212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If
1+(1-221)+(1—-4%3)+ (1 —-6%5) +..... +
(1—20%19)=a— 220B, then an ordered pair
(o, B) is equal to :

Options :

40503640715, (10, 97)

(10, 103)
40503640716

40503640717, (11, 103)

40503640718, 117

Question Number : 57 Question Id : 40503611212 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B
1+(1—-221)+(1—4%23) + (1 —6>5) +.....+
(1—-20219) =a—220p, @ T&H HAA TH
(o, H]W%

Options :

40503640715, (10, 97)

(10, 103)
40503640716

40503640717, (11, 103)

40503640718, 11 %7)

Question Number : 58 Question Id : 40503611213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let f be a twice differentiable function on
(1, 6). If f(2)=8, f'(2)=5, f'(x)=1 and
f"(x)=4, for all xe(1, 6), then :
Options :

40503640719, J(2)=10

. r )
40503640720. JeHfe)=2

40503640721, 1 ©) H/1()=20
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40503640722, 1 @) H/(0)=26

Question Number : 58 Question Id : 40503611213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HA Ferd f, FUE (1, 6) H a1 97 SGFHAqd
g1 A f(2)=8,f(2) =5, T T xe(1,6) F
e f @)= 1aenf ' (x) =4 & @ :

Options :
40503640719, /(9)=10

' -2
40503640720, 1 @) T/1(0)=28

40503640721, 1 @) F(G)=20

40503640722, 1 ©)H[1(5)=26

Question Number : 59 Question Id : 40503611214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If (a++2bcosx)(a \.EhCDSy.]= aZ—b2,

dx (o )
; >sh> — atl—, —1|is:
wherea > b > (, then dy al i 1) is

Options :

=p

da

40503640723, a+b
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40503640724.

40503640725.

40503640726.

o
>

b’
o

a+b
a—b

a—2b
a+2b

Question Number : 59 Question Id : 40503611214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

g (a+ /2 beosx)

la \Ebcnsy}=a2 b2, Fa>b>0%T,

.."'
T o)

Ty,

il
Options :

40503640723.

40503640724.

40503640725.

dx

W@W%:
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a—2b

p, ~y
40503640726, 2 2P

Question Number : 60 Question Id : 40503611215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Let f(x)=|x—2| and g(x)=f(f(x)), x€[0, 4].
3
Then -‘.1‘3{1] f(x)) dx is equal to:
0
Options :

40503640727. 0

2 | =

40503640728.

40503640729, 1

R |G

40503640730.

Question Number : 60 Question Id : 40503611215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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afs xe[0, 4] & faU fx)=|x—2| a9

i) ¥ A [ee) o) dx TR

0
L ¥
Options :
40503640727. 0
1

40503640728, 2

(=

40503640729.

b

40503640730.

Question Number : 61 Question Id : 40503611216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks o |

The mtr_-gral _H | dx s r_-qual

X siny -+ cosxy

o
(where C is a constant of integration) :
Options :
xtanx
secx - +C
xsinx + cosx

40503640731.

.
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40503640732.

40503640733.

40503640734.

rtanx

secx - +C
xsinx + cosx
xsecx
tanx - - F C
xsiny <+ cosx
xsecxy
tanx - + C
rsinx + cosxy

Question Number : 61 Question Id : 40503611216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

wwr ||

\

X

xsinx +cosxy

."|'2
| dr =
7

(T2 C UF O =1 2)

Options :

40503640731.

40503640732.

40503640733.

40503640734.

rtan x

secx - +C
xsinx + cosx
xtan x
secx - +C
xsinx + cosx
xsecx
tanx - F C
xsinx + cosx
xsecx
tanx - FC
xsinx + cosx
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Question Number : 62 Question Id : 40503611217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

oz
Let f(x) :jﬁ dx (x =0). Then
x

f(3)—f(1) is equal to :

Options :
T I 1 I xﬁ
40503640735, 122 4
m, 1B
40503640736, 12 2 4
w,1_\3
40503640737. 6 2 4

3

4

BJ | =

40503640738. ©

Question Number : 62 Question Id : 40503611217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
' Vx

(1 + x)?
f(3) —f(1) TR E

afs  f(x)= de (x =0) 2, i

Options :

.
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LA B ]
40503640735, 12 2 4
T, 1 3
40503640736, 12 2 4
=, 1_3
40503640737. 6 2 4
Falyvd
40503640738, © 2 4

Question Number : 63 Question Id : 40503611218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the
differential equation,

xy' —y=x%(xcosx +sinx), x > 0. If

it | .
m)=1 ' ”(L - 1 ('—I is ; -
y(m)=m, then ¥ ‘ 2,;| \l;l 2;| is equal to

Options :

| B o
40503640739.

14
40503640740.

k3| =

.
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[
=] | = |

40503640741.

it

4

(%]
(S

40503640742.

Question Number : 63 Question Id : 40503611218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AT ATl FHIFHI
xy' — 1y =x*(xcosx + sinx), x > 0 F B y=y/(x)

—_—
L1

P |
. & . ; - m | '_I
b Rym=rt Ay3) +yl3) T

T
Options :
14 ;}
40503640739. 2
o —
14 ; Ll
40503640740. 2 4
g
)
40503640741, <
2 4 ; i
40503640742. 2 4
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Question Number : 64 Question Id : 40503611219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A triangle ABC lying in the first quadrant
has two vertices as A(1, 2) and B(3, 1).
If /BAC = 90°, and ar.{_L%EC.] = 543 sq.
units, then the abscissa of the vertex Cis :

Options :

40503640743, 1+2v5

40503640744.
i

40503640745, = V5
e g

40503640746, V5

Question Number : 64 Question Id : 40503611219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T+ Y ABC, < 999 Squfw & fem &, F
| vid fag A(1, 2) 9T B3, 1) ¥ 1 =fT
ZBAC = 90° T9T ar (AABC) =55 =7l
SIS 2, il 9T fag C 1 Y (Abscissa) @ :
Options :

40503640743, 1+ 25
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1+ 45

40503640744
2
40503640745, = V5
245 —1
40503640746, V5

Question Number : 65 Question Id : 40503611220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
£ T

Let :_E I I:_E =1(a >b) bea given ellipse,

length of whose latus rectum is 10. If its

eccentricity is the maximum value of the

. 5
function, $(t) = o Ft tz, then a2+ b?
is equal to :
Options :

40503640747, 116

40503640748, 126

40503640749, 15°

40503640750, 149

Question Number : 65 Question Id : 40503611220 Question Type : MCQ Option Shuffling : Yes Display Question QCO| Iegedu nias
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2 2

a4 L =1 (a> by TE dedqa fem @

a hz
o & fvera <A1 =1 o= 1021 afz =3
F1 IHTA, FAT () = 1% Ft—t2
HATIHaH 91 % FUEL 8, 91 a2+ b2 e B
Options :
40503640747, 116

40503640748, 126

40503640749, 15°

40503640750, 149

Question Number : 66 Question Id : 40503611221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let P(3, 3) be a point on the hyperbola,

2

y _

e If the normal to it at P

a b“

=
(=]

intersects the x-axis at (9, 0) and e is its
eccentricity, then the ordered pair (az, 93]

is equal to:
Options :

.
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' \
(22

40503640751.

40503640752, (%:3)

40503640753, 2/

40503640754.

Question Number : 66 Question Id : 40503611221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2
A fag P(3, 3) AfawEem, = - L =1

W feord €1 Afe PR sHe AfueiE, x-31 &
fa=g (9, 0) W FTedl € T SHHT Sch=dl e F
TR 2, A HHd I (a2, e2) TR & :

Options :
' 3
| 2l
40503640751, d

40503640752, (%:3)

40503640753, 2/
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L 2
40503640754, < 7

Question Number : 67 Question Id : 40503611222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let X, be the point of local maxima of
- [ —
f(x)=a . ( b X ¢ _.| , where

—

a =x-;: 2; I?rl:, b =-274 1; Ir

and ¢ =71 2; + vk . Then the value

of a-b+bh-ctc-a at x=x,is :
Options :

40503640755, 0

40503640756, 22

40503640757, —4

40503640758, 14

Question Number : 67 Question Id : 40503611222 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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b=-2i+xj—k qe
?:;; 2; Fxk %', WM x=x, W

— = — = — =
a-bt+hbh-c+c-a HEITTFT%

Options :

40503640755, 0

40503640756, 22
40503640757, —4

40503640758, 14

Question Number : 68 Question Id : 40503611223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The mean and variance of 8 observations
are 10 and 13.5, respectively. If 6 of these
observations are 5, 7, 10, 12, 14, 15, then
the absolute difference of the remaining
two observations is :

Options :

40503640759. 3
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40503640760. 9

40503640761, 7

40503640762, 2

Question Number : 68 Question Id : 40503611223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

8 Y&TUT =T {1 T WEI0T FHHI: 10 941 13.5
1 afe 578 | 6 985, 7, 10, 12, 14 949115 §,
T =Rt =1 Fequi o1 e o E

Options :

40503640759, 3

40503640760. 2

40503640761, 7

40503640762, 2

Question Number : 69 Question Id : 40503611224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Two vertical poles AB=15 m and
CD=10 m are standing apart on a
horizontal ground with points A and C on
the ground. If P is the point of intersection
of BC and AD, then the height of P (in m)
above the line AC is:

Options :

40503640763, ©
40503640764, 10/3
40503640765, 20/3

40503640766, 2

Question Number : 69 Question Id : 40503611224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g =9 G4 AB=15 m T CD =10 m, &=t
4 W sa wFR we € fF A qanC 9fa w )
afg BC @1 AD &1 Wig=ed fag P &,
W ACHPHI F4E (m¥) T

Options :

40503640763, ©
40503640764, 10/3

40503640765, 20/3
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40503640766. 2

Question Number : 70 Question Id : 40503611225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given the following two statements :
BG:@vp—=@e~9 is a
tautology.

.{S;_j: ~q A (~p < q) isafallacy. Then:
Options :

40503640767 both (S,) and (S,) are correct.

40503640768, only (S;) is correct.

only (S,) is correct.
40503640769. i

40503640770, both (S;) and (S,) are not correct.

Question Number : 70 Question Id : 40503611225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
iz feum e .

©1):@v p) = (p o ~q TFIRHEL
52): ~q A (~p < q THTERERRE A
Options :
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(S,) T (S,) THI Tal B

40503640767.
40503640768. : {81] el %l
40503640769. {53] Hel % |
(S,) T (S,) ST Tl &l |
40503640770. i
Sub-Section Number : 2
Sub-Section Id : 405036784
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503611226 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the system of equations
x—2y+3z=9
2x+y+z=b
x—7y+az=24, has infinitely many
solutions, thena—bisequalto
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 71 Question Id : 40503611226 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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x—2y+3z=9
2x+y+z=b
x—7y+az=24
FITEACMa—bTERE_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 72 Question Id : 40503611227 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

20
N
Let (2" +3r+4)' = > a2’ . Then
r=0
o
is equal to
by B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 72 Question Id

: 40503611227 Question Type : SA Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 0

20 '
a'-'
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Suppose a differentiable function f(x)

satisfies the identity
flx+y)=f(x)+f(y) + x>+ 2%y, for all real

xand y. If lim J&) 1, then f'(3)is
=0 x

equal to __
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If the equation of a plane P, passing
through the intersection of the planes,
x+4y—z+7=0 and 3x+y+5z=8 is
ax +by+6z=15 for some a, be R, then the
distance of the point (3, 2, —1) from the

pla_ne Pis
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The probability of a man hitting a target is
ﬁ' The least number of shots required,
so that the probability of his hitting the

target at least once is greater than 1’
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